Accounting 311  Chapter 9: 

AC versus VC inventory costing methods

EXAMPLE with FIFO and changing FMRate.    

Wow, this is fun.

The following information applies to Big Bob’s Tillers (manufacture battery powered tillers):

2002—budgeted fixed mfg. costs
    $170,000


    budgeted production
                10,000 units

2003—budgeted fixed mfg. costs
    $180,000


    budgeted production
                  9,000 units

2003 GAAP operating income was $90,000. If Big Bobs had used variable costing for inventory, operating income would have been $88,925.  Big Bobs uses FIFO for inventory.  For accounting purposes, all of 2003 beginning inventory was from 2002 production.  2003 ending inventory was 500 units.  Inventory levels are a small fraction of sales.  What was 2003 beginning inventory?

ANSWER:

Was distributed in class
